Wealth inequality

The world wealthiest subset
— the 1426 richest individuals
on the planet —
are worth $5.4 trillion,
which is roughly twice the size
of the entire British economy and
more than the combined assets of the

250 million least wealthy Americans.

Edward Luce,

The Retreat of Western Liberalism
Average wealth of a 1426er:
$5,400,000,000.000 / 1,426 = $3,786,816,269
Average wealth of a 250,000,000er:
$5,400,000,000.000 / 250,000,000 = $21,600
$3,786,816,269 / $21,600 = 175,315
Average wealth of a 1426er = combined assets
of 175,315 250,000,000ers
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